
 

 

THERMODYNAMICS: MOLLIER DIAGRAMS 

Mollier Diagrams:  

 
Where the energy balance equation reduces to:  
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2s represents a reversible 

process (Carnot/ideal), while 

2 represents an actual 

process. 



  

For more information, visit a tutor. All appointments are available in-person at the Student Success Center, located in the 

Library, or online. Adapted from Hibbeler, R.C. (2014). Mechanics of Materials (9th Edition). Boston, MA: Prentice Hall. 

 

 
Isentropic efficiency: 𝜂𝑇 =

ℎ1−ℎ2

ℎ1−ℎ2𝑠
 Isentropic efficiency: 𝜂𝐶 =

ℎ2𝑠−ℎ1

ℎ2−ℎ1
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